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K48 01 2016 138 12 20168 123 312K
Kl 47 J1: 20153 12 122E 20153 123 312K

o2 & o I & A

ni; = =4 M 48 (€) 21 Ml 47 (&) 21
.o 2 A 32 201,866,745 200,653,482
.0 & & Ot 24 120,277,715 123,482,118
.0 £ &0l & 81,589,030 77,171,364
ZHHdI2k2teld] 24, 25 52,348,358 50,757,922
Iv. & & 0l < 29,240,672 26,413,442
Jl B = ¢ 26 3,238,261 1,685,947
JI Bt HI 2 26 2,463,814 3,723,434
A=2dol 12 19,501 1,101,932
=8 = ¢ 27 11,385,645 10,514,879
=& H 2 27 10,706,613 10,031,771
V. HelMBIEXZE =012 30,713,652 25,960,995
ol Al & 28 7,987,560 6,900,851
VL. EJl=01Y 22,726,092 19,060,144
N1 ARF=X2 22,415,655 18,694,628
HIXIBHXIZ 310,437 365,516
ViL = & 0l & 29
J|2FE012(SH:2) 157,967 126,305
3| A=E0[(EH: ) 157,967 126,303
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AEETFASIAR O 50| (CH2l : HEER)
ni; = =4 Ml 48 () 21 Ml 47 (&) 2l
I H2E2E)=014 22,726,092 19,080,144
I, HAZD|EE2EY 1,991,400 76,071
SENOF PI|EQUOR MNERLAX e EZE 1,014,040 288,047
1. =2ES0HREN =LA 17, 23 963,602 263,978
2. 2AHDIE & SS012| DIEtE2E0 tHet X2 12,23 50,438 24,089
SEHOZ I |ECR HERE=E 22 977,360 (211,976)
1. lH=otsSs I 9,23 (23,839) (414,961)
2. 2AHDIE & SS0122| DIEtE2E0 tHet X2 12,23 (130,337) (65,330)
3. HLIAHHEEHRIEHRIO0] 23 1,131,536 268,315
. E=£2Z01< 24,717,492 19,136,215
N1 ARF=X2 24,310,814 18,804,189
HIXIBHXIZ 406,678 332,026
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